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JNE] A HeEEE EESIEE ARy ki N HE)
JLiR HaEL 5 (] A O HEE| HVAE] SR EE ds A Esl SR (F) [ (&)
WX 44, 674] 108, 948] 53,416] 55,532 13 -27 6 65 59 -33]  429] 462 of 118] 118
Hil—TH 666[ 1,450 700 750 -1 -3 0 1 1 0 5 5 -3 0 3
AL =T H 529 1,324 656 668 2 -6 -2 0 2 -3 3 6 -1 0 1
FLL=TH 445[ 1,037 506 531 2 5 1 2 1 2 3 1 2 5 3
Jul&EHl 1,640 3,811 1,862 1,949 3 —4 -1 3 4 -1 11 12 -2 5 7
gon—-TH 477 1,042 483 559 3 —4 -1 0 1 -3 3 6 0 1 1
R _TH 741l 1,904 927 977 2 3 -1 0 1 3 4 1 1 1 0
S —=1H 508( 1,257 627 630 —4 -8 1 1 0 -3 1 4 -6 0 6
g RN T H 373 938 462 476 0 -1 0 1 1 -3 0 3 2 2 0
Sk H 5371 1,256 610 646 2 2 -1 0 1 1 4 3 2 2 0
sk 81 H 230 531 249 282 5 14 -1 0 1 12 12 0 3 3 0
skt H 626 1,655 822 833 7 7 0 0 11 5 1 1 0
s\ T H 386 916 460 456 3 14 2 0 11 2 3 3 0
ST H 586( 1,467 725 742 -1 -3 -1 0 1 -1 2 3 -1 0 1
B 5 el 4, 464f 10,966 5,365| 5,601 17 24 -2 4 6 21 48 27 5 13 8
w1 H 312 824 421 403 -1 -1 0 0 -1 3 4 0 0
ek R _ 1T H 901 2,052 1,018| 1,034 1 1 -2 4 6 7 1
Hkr w1 H 653 1,502 732 770 6 9 2 0 3 7 4 4 0
wi A Ekl 1,866  4,378] 2,171 2,207 8 12 3 1 0 14 14 10 11 1
Mk a1 H 560 1,279 629 650 -4 -12 -1 0 i 11 2 13 0 0 0
Mk _ 1T H 346 836 442 394 1 0 -1 4 5 0 0 0
Mk A =1H 249 558 283 275 2 5 2 2 0 3 3 0 0 0 0
Mk AT H 501 1,257 638 619 -1 0 -1 0 1 0 2 2 1 1 0
maEraaerl 1,656 3,930 1,992| 1,938 -3 -7 3 2 -9 11 20 1 1 0
L gl 334 979 433 546 1 -1 0 0 -1 0 1 0 0 0
HOEN— T H 154 393 190 203 0 -1 0 0 -1 0 1 0 0 0
HOER) T H 415 1,005 491 514 -1 -3 1 0 -2 3 5 -2 3 5
HOEEI T H 646 1,652 803 849 1 -1 -3 0 3 4 5 1 -2 0 2
HOEESOPY T H 634 1,736 849 887 -2 1 3 1 -1 2 3 0 1 1
HoEE I ] H 380 943 466 477 2 2 1 1 2 4 2 0 0
HOEEO N T H 397 980 479 501 1 1 1 1 2 1 0 0
HE LT H 627 1,468 704 764 0 -1 -1 0 1 0 5 5 0 0
HOEEIAER 3,303 8, 177] 3,982| 4,195 1 -2 -1 6 7 3 21 18 —4 4 8
PasE )| 1,441 3,080 1,447| 1,633 4 -5 3 3 -3 11 14 -2 3 5
FHIAR 329 736 370 366 2 1 1 1 1 2 1 0 0 0
EEP AR —T 456 1,016 502 514 0 -5 -1 1 2 -3 2 5 -1 4 5
BRI  T H 207 469 246 223 1 2 -1 0 1 -1 2 3 4 4 0
BRI =T 476l 1,171 583 588 0 -1 -1 0 1 -2 5 7 2 2 0
EI LY T H 528 1,166 565 601 ~4 -7 -2 0 2 ~4 1 5 -1 1 2
EEFI R T H 205 539 267 272 3 2 0 1 1 2 3 1 0 0 0
EED RS EE| 1,872 4,361 2,163| 2,198 0 -9 -5 2 7 -8 13 21 4 11 7
EEF AT — T F 643(| 1,394 659 735 3 11 0 0 0 7 3 7 9 2
EIHIARRT T | 606[ 1,322 617 705 -2 -1 1 1 0 0 3 -2 1 3
RIS S 1,249 2,716 1,276| 1,440 1 10 1 1 0 4 10 6 10 5
HIR 305 889 489 400 -1 -1 -1 0 1 0 1 1 0 0
HHR—TH 630 1,553 787 766 -2 -8 2 2 0 -8 2 10 -2 0 2
wduR T A| 1,496 3,717 1,840| 1,877 -7 -16 2 2 of -16 5 21 -2 5 7
WHIR=TH g10f 2,248 1,107| 1,141 2 1 0 0 0 1 1 0 0 1 1
HHRIUT H 445 1,112 532 580 -2 -3 0 0 0 -2 1 3 -1 1 2
HAREAE] 3,381 8,630] 4,266| 4,364 -9 26 4 4 of -25 9 34 -5 7 12
IR —TH 578\ 1,440 714 726 -1 0 2 2 0 -1 6 7 -1 4 5
R _-TH 797 2,103] 1,043 1,060 3 4 0 2 2 1 10 9 3 10 7

LR =TH 416 955 501 454 0 -1 0 0 0 -2 1 1
bR EEH 1,791 4,498] 2,258| 2,240 2 3 2 4 2 -2 17 19 3 15 12
T RETHT 316 829 393 436 -3 -5 0 0 0 -2 -3 3

wie| 1,657 5,027 2,318] 2,709 -2 1 1 2 1 2 -2

M E -1 H 728 1,832 909 923 1 -3 1 1 0 -3 -1 1




I

28.10.1 HiE Sk amEEANSE S niti R
JNE] Aij LR RS ILE e N E)
JLG s T 5 Al A Ol | VR SR EE ss A EsHl AR (F) | (=)

HAlE T H 698 1,873 957 916 1 -3 0 0 0 0 5 5 -3 1 4
HAE =T H 582| 1,485 736 749 0 1 1 0 1 4 3 -1 0 1
FAEMN T B 877l 2,258 1,117| 1,141 2 2 0 0 0 -2 4 6 4 6 2
ERIGENNE 563| 1,389 680 709 -1 -2 -1 0 1 0 1 1 -1 0 1
FREST H 4071 1,061 512 549 -1 0 0 0 0 0 1 1 0 0 0
mEYE S 3,855  9,898] 4,911 4,987 2 -5 1 2 1 ~4 18 22 -2 7 9
F 5 504 1,169 574 595 -3 -6 -4 0 4 -2 7 0 0 0
g — T H 311 677 335 342 -3 —4 -1 0 1 -2 2 -1 0 1
i — T H 582 1,368 665 703 13 1 1 0 14 17 -2 0 2
A ASENN 893l 2,045 1,000| 1,045 9 0 1 1 12 17 -3 0 3
=1 e 275 646 317 329 4 1 1 0 2 105 103 1 3 2
2 _ T H 596| 1,317 656 661 -2 —4 0 1 1 -1 4 5 -3 0 3
=T H 382 987 499 488 -6 1 1 0 -5 0 5 -2 0 2
Bhasr 1,263 2,950 1,472| 1,478 —6 2 3 1 —4 109 113 —4 3 7
e -1 H 392 1,064 517 547 1 1 1 0 -1 0 1 1 0
WHlE __TH 429 1,131 557 574 2 0 0 0 0 3 2 3 1
wYE —TH 751 1,940 973 967 -2 —4 -1 1 2 -2 5 -1 0 1
HHEMLT H 441 1,063 511 552 -2 -3 -3 0 3 -2 1 2 2 0
HWYE T H 745 1,720 848 872 -5|  -14 1 2 iy -15 0 15 0 4 4
WHENTH 212 483 245 238 0 8 1 1 0 8 8 0 -1 0 1
U EAaE] 29700 7,401 3,651 3,750 -6  -10 -1 5 6] -12 17 29 3 10 7
<HBXEL—TH 611 1,472 712 760 1 4 0 0 0 4 7 3 0 0 0
<HEIL—TH 683 1,585 777 808 -2 0 0 2 2 0 5 5 0 0 0
<HBEL=TH 498( 1,187 599 588 -3 —4 -1 0 1 —4 1 5 1 1 0
BN T H 480[ 1,089 539 550 4 -1 0 1 4 8 4 1 1 0
SHELH T H 393 843 475 368 -2 0 1 1 -2 1 3 0 0 0
<MELEE] 2,665 6,176] 3,102 3,074 2 -2 3 5 2 22 20 2 2 0
WIEAR — T H 741 1,694 831 863 3 11 3 3 0 4 5 4 4 0
HIEARRT T H 425 1,113 556 557 -1 -2 0 0 0 1 0 -3 0 3
WIEAR SR 1, 166] 2,807 1,387 1,420 9 3 3 0 5 10 5 1 4 3
s 431 863 422 441 9 -1 0 1 6 12 6 4 5 1
kw1 H 880[l 1,485 670 815 -7l -12 1 1 0 0 17 17 -13 3 16
kAT H 355 625 296 329 2 1 1 0 0 7 7 0 0 0
ok A= 1T H 585| 1,629 762 867 -3 3 5 5 0 -2 5 7 0 0
ek AT H 338 743 357 386 2 4 0 1 1 2 5 3 2 0
g A Ekl 2,158 4,482] 2,085| 2,397 —6 —4 7 8 1 0 34 34 -11 5 16
FRIREET 23 63 33 30 0 0 0 0 0 0 0 0 0 0 0
iy 735 1,850 888 962 -3 -5 0 0 0 -3 4 7 -2 0 2
JGREA ] 252 650 308 342 1 -1 0 1 1 -1 0 1 0 0 0
e — T H 366 998 514 484 -1 -1 0 1 1 -1 2 3 0 0 0
a1 H 300 733 371 362 -1 -2 0 0 0 -2 0 2 0 0 0
e G 666] 1,731 885 846 -2 -3 0 1 1 -3 2 5 0 0 0
Va1 H 628| 1,402 698 704 2 -1 -1 1 2 -2 5 7 2 2 0
VEfEEEE] T H 480\ 1,228 588 640 -1 -2 0 0 0 -2 0 2 0 0 0
vafe A Er 1,108 2,630] 1,286| 1,344 1 -3 -1 1 2 —4 5 9 2 2 0
P 270 656 324 332 -1 -3 1 1 0 —4 1 5 0 0 0
IR 221 570 303 267 -1 -1 0 0 0 -1 0 1 0 0 0




